50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 18EES81
Eighth Semester B.E. Degree Examinafijon, Dec.2023/Jan.2024
Power System Operation and Control
Time: 3 hrs. £ ““Max. Marks: 100

Note: Answer any FIVE full questions, ychoosing ONE full question from each module.

1 a
b.
2 a
b.
3 a
b.
4 a.
b.
5 a
b.
6
7 a

' Module-1

Explain the operating states of pewer system. I (10 Marks)
Explain energy management center along with major components of energy centres.
G (10 Marks)
A ck: (10 Marks)
Give a brief explanation on classification of SCADA system. (10 Marks)
QQQQQ Module-2

Explam the speed governor system. (10 Marks)

Give the mathematical model of single area controlled ALFC along with block diagram.
(10 Marks)

OR

Explain the steady static ana1y31s of ALFCy ™ (10 Marks)

A 100MVA synchronous generator operates-on full load at ﬁequency of S0Hz. The load is
suddenly reduced to S0OMW. Due to tlrne Iag in governor system the steam valve begins to
close after 0.4-sec onds.

Determine the change n frequency that occurs in tms time. G1ven H = 5kW — sec/KVA of

generator capacity. (10 Marks)
Module-3

Explam two area load frequency control. (10 Marks)

Derive the state space model for a smgle area LFC system. (10 Marks)

(10 Marks)
(10 Marks)
~ Module-4
Explain the productlon and""absorptlon of reactive power. (10 Marks)
Express the relation between voltage and reactive power. (10 Marks)
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LAY

t

A

OR ,
8 a. Consider the transmission system shown in Fig.Q.8(
respective voltage bases and 100MVA base. Dete '
and its p.f.

U values are referred to thé‘w
e power supplied by the generator

E

(10 Marks)

b. Explain tap changing transfo for voltage control (10 Marks)
Module-5 %ﬁ%‘w

9 a. Explain the maJor ﬁn;@%hon of power system securlty (10 Marks)

b. i (10 Marks)

10 a. Explain ;hé‘pmcess of contingency selectlon and contingency ranking. (10 Marks)

b. Explam Ti“ncar least square estlmat'fm? (10 Marks)
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